BTEXPERT

150 Gallon Deck Box

Assembly Manual

WARNING:

Manufacturer and seller expressly disclaim any liability for personal injury,
property damage or loss, whether direct, indirect, or incidental, resulting
from the incorrect attachment, improper use, inadequate maintenance, or
neglect of this product.



Letter Reference Picture Quantity

Front Panel

Side Panel- Left

Side Panel- Right

Back Panel

Bottom Panel

Cover Panel

N R

M6 Bolt * 12

.. 1c:o

e | (EH

ﬁa e M5 Screw, 2 8
3*%14

“O

oo TIMOUO O 1>

O
= O~

- ﬁ 0 0 M6 Nut
With Cup



1. Insert the side panel into the bottom panel (Flat Side UP), push down and slide along to lock, Top Holes on

Same Side and match with top holes of back panel.
Top Holes on
_ same side

©

Push down
and slide
along to lock

2. Fold both sides of the Back & Front panel and insert in the bottom panel, press down to make it

align.
Fold Both
/ Sides \

@ Front Panel

OBack Panel

3. Insert three #5 screws to connect the side panels with front panel & Back
Panel from inside, on each side.



4. Install Gas lift on Both Sides and Top Panel using Two #5 Screws Each Sides on Top Panel and
three #4 Bolts with three #6 Nuts on each Side Panels.

5. Attach the Locking Tab to the Front Panel using the #6 bolt and #7 nut with cap.

6. Turn the Product Upside Down and insert the #5 Screw on each bottom corners.

Attach Top
Panel
and Instcll Gas
Lift on Both
Sides

#5 Screws

(2)

#4 Bolts(3) with
#6 Nuts(3)

#5 Screws




** IMPORTANT**
ASSEMBLY NOTE
FOLD FRONT PANEL
FOLD BACK PANEL
DURING ASSEMBLY.

SCAN THE QR CODE
FOR ASSEMBLY VIDEO




